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	GCSE

	HISTORY (MOCK EXAM)

	Paper 1 Understanding the modern world
1D America, 1920–1973: Opportunity and inequality with wider world depth studies



 

Materials
For this paper you must have:
· an AQA answer booklet.

Instructions
· Use black ink or black ball-point pen.
· Write the information required on the front of your answer booklet. The examining body for this paper is AQA. The paper reference is 8145/1D.
· Do all rough work in the answer book.  Cross through any work you do not want to be marked.
· Answer all questions from Section A.
· Only answer the questions for the topic you have studied in Section B.


Information
· The maximum mark for this paper is 40
· The marks for questions are shown in brackets.
· 

Advice
· You are advised to spend 50 minutes on Section A.
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SECTION A


America, 1920–1973: Opportunity and inequality

Answer all six questions on page 3 and then turn to page 5 for Section B



Read Interpretations A and B and answer the questions 01, 02 and 03 on page 3.


	Interpretation A
	Henry Ford speaking to his shareholders in 1941 about his attitude to business; Ford was well-known for establishing a shorter (five-day) week:



	
	“From the start I had my own ideas about how the business model should run.  I wanted it to benefit everybody who contributed to its success – stockholders, my workers and the public”.




	Interpretation B
	Adapted from a 1969 biography of Ford by Booton Herndon, an award-winning reporter; Harry Bennett was Ford’s second in command:


	
	“Bennett liked boxers and wrestlers, and many, particularly the big tough ones, ended up on the payroll.  He sought out tough cops and hired them.  He built up a small army of thugs who kept the workers under complete control.  Anyone doing anything naughty, like talking union, was beaten to a pulp and fired.”
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	0
	1
	How does Interpretation B differ from Interpretation A about how Henry Ford treated his workers?

Explain your answer using Interpretations A and B.
[4 marks]




	0
	2
	Why might the authors of Interpretations A and B have a different interpretation about how Henry Ford treated his workers?

Explain your answer using Interpretations A and B and your contextual knowledge.
[4 marks]




	0
	3
	Which interpretation do you find more convincing about how Henry Ford treated his workers?
Explain your answer using Interpretations A and B and your contextual knowledge.
[8 marks]





	0
	4
	Describe two ways in which the motor car encouraged social change..
[4 marks]




	0
	5
	In what ways were the position of women in society affected by the changing socio-economic changes during the 1920’s 

Explain your answer.
[8 marks]






	0
	6
	Which of the following was the more important reason for the economic boom in the 1920s

· Hire Purchase
· Mass Production

Explain your answer with reference to both reasons.
.
[12 marks]
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